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Show your work. A correct answer with no justification or incorrect
reasoning will receive no credit. Use the normal table at the end of this
exam as needed.
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. [3] A six-sided die is rolled ten times. What is the chance of a “twa” appearing 9
Jor10 times? A o
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2. [5] A box contains three apples and two oranges. Three fruits are drawn without
replacement. What is the chance of getting at least one orange?)
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3. [5] Two fair coins are tossed simultaneously. You do three times and if you
always get one head and one tail appeanng, you win a prize. What is the chance

of winning the prize?
444
® @ TR
()]

S/ Lbaaia r-?J- AN RAYY v Ted HERS

o,

(V7)) = hasu of s Wharis H0ge~

= ‘ i"'i r-_‘ Il.l'.'

-

4. [5] A box contains three oranges and four apples. Approximately, what is the
chance that more apples than oranges are drawn in 25 draws with replacement?
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3. [5] A simple random sample of 100 people is taken from a large population. 30%
of the population are married. Fill in the blank and show your work: There is
approximately an 80% chance sample contains a percentage of married
people greater than or equal to
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6. A simple random sample was taken cif___l_ﬁﬂ_l}__r&ﬂdﬁmial houses in a large city.
The average number of residents per household under the age of 21 was 1.5 with
an 5D equal to 1.0.

(a) [4] An appmximaﬁ}g&bnﬁdcnce interval for the average number of

residents per household i the city under the age of 21 is to
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(b) [3] Copy the larger of your two answers from (a) into the blank in the

following statement: There is approximately a 95% chance that the average _

number of residents per household under the age of 21 in the city is less than /
|54 . Isthis statement True or False, and why?
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(c) [3] Copy your answers from (a) into the blanks in the following statement:
Approximately 90% of the households in the city have between 19§ and | <%
residents under the age of 21. True or False and why?

False  we vt dialing Wit avsinfes Wivg., et Sheald b sauddig -

..
Ao Sar ege [Hbgs 1S, dhive (S a 907, thanee $at

olas  mNC e a;l =klng Bl vy yiAd gt EJ‘:'J "‘r--""."}-’ Lz ..: blaasl g 2 et | |
——— -'4

*'!-'-l :l. ..h l—-l-lr .!._i.' ‘-{j_r._,‘: =
I L



Table

Aray Haight
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A NORMAL TABLE
r  Height Area z  Height  Area t  Height  Area

0.00 39.89 0 150 12.95 B6.64 300 043 .73
0.05 39.B4 3.9 1.55  12.00 &7.89 305 0381 997N
0.10 39.69 .97 1.60  11.09 B9.04 310 0327 99.80%
0.15 3945 1192 L6 10,23 9011 15 0279 wan
0.20 139.10 15.B5 L70 5.40 91.09 320 0238 99.863
0.25 3867 1974 1L75 8.6 91.9% 325 D203 99.88%
030 3B.14 23158 1LB0 790 9281 330 0172 99.903
035 3182 n.w» 1.85 7.21 91.%7 135 0146 999
0.40 3683 31.08 1.9 656 9426 J4 0123 99933
045 3605 .M 1.95 5.96 9488 345 0104 99.944
0.50 3521 3829 2.00 540 9545 150 0.087 99.9%5)
035 M2 4177 2.05 4.8 959 135 0073 #9.96)
0.60 3332 4515 .10 440 9643 360 0.061 99.968
D.65 3230 4843 2.15 1% 9684 3.65 0051 99.974
030 31.23  51.6] .20 3355 9112 370 0.042 99978
0.75 3.1 .67 2.25 317 97.56 375 0.035 99.982
08B0 2897 57.63 230 2B 9186 JED 0.029 99985
0.B5 2780 60.47 1.35 2.32 98.12 J.B5 0.024 ©9.588
0.0 2661 63.19 140 224 9836 3% 0020 99.9%
095 2541 6579 1.45 1.8 9357 395 0016 99992
.00 2420 68.17 2.50 195 98.76 4.00 0.013 99.9937
105 2259 70.63 2.35 L34 9392 405 0.011  99.9949
.10 21.% T.m7 2.60 Lie 9.0 410 0.009 99.99%9
LIS 2059 7499 2.65 1.19 59.20 4.13  0.007 99.9947
.20 19.42 7699 2.70 Lod 5931 420 0.006 99.9973
125 18.26 78.87 275 051 9940 425 0.005 99.9979
L300 1714 BO.&4 280 079 9949 430 0.004 99.9983
135 1604 8230 285 069 99.56 4.35 0.003 05959985
1.40 1487 B38S 290  0.60 99.63 440 0.002 99.9989
145  13.94 BE5.29 295 051 99.88 445 0.002 599991



